-’

HONG HUA

= mn B

Parts List

Anbbom yeptexxen

Bbyposoii Hacoc 3NB-2200
NB2200G-TC
Hos0psb, 2012

=ty s N L —
Az EAilizaRAR2al
SICHUAN HONGHUA PETROLEUM EQUIPMENT CO., LTD.
CbluyaHbckas koMnaHusa HedpTaHoro obopyaoBaHus XyHXya



Conep:xanue

[.NB2200G.00 3NB-2200 O0uiuii BUI OYPOBOIO HACOCA «ccveeveeaecasensans 1
II. 3NB-2200 YepTesKH Y3J0B GYPOBOT0 HACOCA .cceveereeeeesascsassasesassansnsssassases 4
1. NB2200G.01.00 CTaHHHA B COOPE .oeevvvreenerieeeerieeeireeeerreeennereesnsneeeennns 4
2. NB2200G.02.00 KosieHUaTBIN BaTl B COOPE....eeeevrireeirieenrreeerereeennneenns 6
3. NB2200G.03.00 Ban-meCTEPHS B COOPEC....eeervrrrerrrreerirreeeerreeeereeennenens 8
4. NB2200G.04.00 KpeHIIKOTI]P B COOPE....erervrreerrrreerreeeeereeennreeenneeens 10
5. NB2200G.05.00 T'uapaBirdecKkast 4aCTh B COOPE ...eevrvvreerrevreeereveeenne 13
6. NB2200G.05.02.00 BeImtyCKHOM HUIHHAP B COOPL...cvvvveeeerreeaerrennee 16
7. NB2200G.05.38.00 [TpueMHBIN HUITAHIP B COOPEC..cerrvrreerrnrreeeerreannne 17
8. NB2200G.06.00 Cma3ka TuHaMHUYECKON 4acTH B COOPE........ccuvveen.... 18
9. NB2200G.06.00 Cma3ka TuHaMUYECKON 4acTH B COOPE........ccuvveee.... 21
10. NB2200G.08.00 PactibuinTenbHast CUCTEMA B COOPE .....eeevevveeenennnnnne 24
11. NB2200G.24.00 KB-45H BO3IYHUIHBIA MEIIOK .....cceeernevveeeernnennnnnn. 26
12. NB2200G.24.04.00 KoxkyX MaHOMETPA B COOPE ....vvverevveeernrreeannrenns 28
13. NB2200G.25.00 BbInyCKHOM MSATEPHUK B COOPE ..evvveeereeeevreeeennennns 29

14. NB2200G.27.00JA-3H IlpenoxpaHuTeabHbId KJIalaH CO CPE3HBIM

ITHPTOM JA-3H ..o 31



[.NB2200G.00 3NB-2200 O6uruii B 0ypoBoro Hacoca

M BHJ HACOCHOM CTaHIIUM

(v

3NB-2200 O6uu

i
Eay

L7

35

&

.-

3L

MM
mm

37
31

.

SNB—=2200

30

HONGHUA

[ 9 —10 \H 12 BMWB%/ / \WWSW \20 210\ 22—173 b —25—76—171
1 8

?u />/




/11 Howmep ueprexa HaumenoBanue Kou.
1 NB2200G.01.00 Cranuna B cbope 1
2 NB2200G.02.00 Konenuarsrii Ban B cbope 1
3 NB2200G.03.00 Ban-mecrepus B coope 1
4 NB2200G.04.00 Kpeiitikond B cobope 3
5 NB2200G.05.00 lMunpaBnuueckas yacts B cOope 1

Cma3zka TMHAMHYECKOM 4acTu B
6 NB2200G.06.00 cOope(BHEIIHSAS) 1
7 NB2200G.07.00 OcHoBanue 1
8 NB2200G.08.00 PacnpumuTenpHas cuctema B coope 1
9 NB2200G.09 VYkazarenb 2
10 GB/T827-1986 3axnenka: 3x10 6

VYkazaTenp TeMIepaTypbl U ypOBHS
11 YWZ-200T JKUIKOCTH
12 YD OOpatHbIif KJ1anaH yKa3aTeiab YPOBHS
13 GB/T95-2002 [aii6a: 16 36
14 GB/T5781-2000 Bont: M16x45 32
15 NB2200G.10 Kppimika oTBepeTust 11 Kpeinkornga 2
16 NB2200G.11 YmnoraurensHast nmpokiaaka( 1) 2
17 NB800G.19.00 JpeHaxxHas KpbIIKa 2
18 NB800G.20 YunoTHuTenbHas 1maiida 2
19 GB/T5781-2000 Bont: M12%35 32
20 GB/T67-2000 Bunt: M4x12 8
21 NB2200G.12 Tabnuuka 2
22 GB/T5780-2000 bont: M16x60 4
23 GB/T41-2000 laiika:M16 4
24 GB/T5782-2000 Bont: M27x105 10
25 GB/T6170-2000 laiika: M27 18
26 GB/T93-1987 laiiba: 27 18
27 NB2200G.13 Perynupyromas npoknanka 10
28 NB2200G.14.00 YnopHoe rue3nno 2
29 GB/T5782-2000 Boat: M27%x95 8
30 PesunoBas nenra:51x10x5600 1
31 NB2200G.15.00 3aaHss TaHeb-3arJIyIIKa 1
32 NB2200G.16 YmroraurensHas npokaaaka (11) 1
33 | GB/T5781-2000 Bont: M12x30 16
34 | GB/T95-2002 IlaiiGa: 12 48
35 NB800G.09 YmnoTHuTeNnbHas maiida 2




36 NB800G.10.00 BeHTUISIIMOHHEIN KOIIIaK 1
37 NB2200G.17.00 [Tanenb-3armymrka A1 HAKJIOHHOTO OKHA 3
38 NB2200G.18 YmnoraurensHast npoknaaka(lll) 3
39 | NB2200G.19.00 TonBecHas omopa 1
40 NB2200G.20.00 Kpan 1
41 NB2200G.21.00 [Tanenp-3armymika B coope 1
YK-150 BuOpoycToiiunBelii MaHOMETp C IBONHOM
42 mkasnoii: (80MPa 11600psi ¢aHIeBbIit) 1
43 | NB2200G.22 Imuaska : M30x3-6gx245 24
44 | NB2200G.23 Taiika: M30x3-6H(SPL) 48
45 243 AHa3pOOHBIN YIUIOTHSIOIIHWHA KIISH 1
46 | NB2200G.24.00 BozxymHsiii Menrok KB-45H 1
47 NB2200G.25.00 BrltyckHOM nIATEpHUK B cOOpe 1
SY/T5127-2002 YuoTHUTENbHAS POKIIAJI0YHOE KOJIBLIO:
48 BX169 2
SY/T5127-2002 YioTHHATENbHAS POKIIAJI0YHOE KOJIBLIO:
49 BX152 1
50 NB2200G.26.00 ['He310 mperoXpaHUTEeIHLHOTO KIlalaHa 1
NB2200G.27.00 [IpenoxpaHUTENBHBIN KJIallaH CO CPE3HBIM
51 mrtupTom JA-3H 1
52 NB2200G.28.00 KomMmmnekryromue 3anyactu 1
53 NB2200G.29.00 KommiekTyroniye HHCTPYMEHThI 1




IT. 3NB-2200 YepTe:xu y3,10B OypoBOro Hacoca
1. NB2200G.01.00 Cranuna B coope

=
|
=

Bud K

e

I
M;Y/) |



/11 Howmep ueprexa HaumenoBanue Kox.
1 NB2200G.01.01.00 CraHuHa 1
2 NB2200G.01.02 Kppliika OCHOBHOTO MOJIIUITHAKA 2
3 NB2200G.01.03 ITpoknaaka 4
4 NB800G.01.04 Coenunurens: NPT3/4-NPT3/4 4
5 NB800G.01.05 Pe3nboBas 3armymka: NPT3/4 4




14

15

T

cudpabnudecHap

2. NB2200G.02.00 Kostenuarbliii Baj B coope

]

o
VA YA

e




/11 Howmep ueprexa HaumenoBanue Kon.
ToprueBast KpbIllIka OCHOBHOTO
1 NB2200G.02.01.00 HOAIMIUITHUKA 2
2 NB2200G.02.02 ['maBHas ruiib3a NOAUIMITHUKA (TIpaBast) 1
3 NB2200G.02.03 YmnotHuTeNnbHas m1aiiba 2
4 NB2200G.02.04 BuyTpenHee cTOnopHOE KOJIBLIO 2
5 NB2200G.02.05.00 Bremnee cronopHoe KOIbI0 3
6 NB2200G.02.06 [MTox 3
7 NB2200G.02.07 ®ukcupyromiee koibio () 1
8 NB2200G.02.08.00 [IycTtoTenbHbIN KOJIEHYATHIA Bajl 1
9 NB2200G.02.09 dukcupyromiee konbio (1) 1
10 NB2200G.02.10 Bonb1moit 3yOuaTsiii BeHeIl 1
11 NB2200G.02.11 bont: M39x3-6gx180 16
12 NB2200G.02.12.00 3anopxas raiika: M39x3-6H 16
13 NB2200G.02.13 IIpokitaioyHO€E KOIBLIO 2
14 NB2200G.02.14 Brynka ocCHOBHOTO MOJIIMITHUKA (JI€Bast) 1
15 NB2200G.02.15 CronopHoe KOJbI0 2
16 NB2200G.02.16 Bont: M20x50 32
17 GB/T343-199%4 KonrtpoBounas nposoioka:SZ-1,50 1
18 NB2200G.02.17 3ammTHas TIaCTUHKA 2
BbonT ocHoBHOTO MoAmMMITHKUKA: 3
19 NB2200G.02.18 3/4-8UN-3A 4
20 NB2200G.02.19.00 [Taket npokI1aiok 4
21 GB/T343-1994 KonTpoBounas npososioka:SZ-3,00 1
22 GB/T5783-2000 bont: M16x50 36
23 GB/T97.2-2002 [aii6a: 16 36
24 NB2200G.02.20 bont: M16x45 56
25 NB2200G.02.21 Bunt: M20x150 4
IToamUIHKUK SKCLIEHTPUKA:
26 NB2200G.02.22 NUP19/800%2Q4/C9
27 NB2200G.02.23 ['maBHbIil noamunmauK: 23172CA/CI9W33
28 242 AHa’pOOHBIN YIUIOTHAIOMIUH KIIei




3. NB2200G.03.00 Banx-mecrepus B coope

O,

|
|
w
/-
I«




/11 Howmep ueprexa HaumenoBanue Kou.
1 NB2200G.03.01 [t 63.5%44.45%355.6 1
2 NB2200G.03.02 Ban-mecrepns 1
3 NB2200G.03.03 W3HocoycToiunBas BTyJIKa 2
4 NB2200G.03.04 Topuesas KpbllKa 2
5 NB2200G.03.05 YunoTHuTenbHas 1maiida 2
6 NB2200G.03.06 I'map3a mommmmaMKa 2
7 NB2200G.03.07 YrnoTHuTenbHas 1maiida 2
8 GB/T93-1987 [MTait6a: 16 32
9 GB/T5783-2000 bont: M16x45 32
10 NB2200G.03.08 danern Hacoca 1
11 GB/T93-1987 [MTait6a: 20 3
12 GB/T5783-2000 Bont: M20x50 3
13 NB2200G.03.09 CronopHoe KoJbLo 2
14 NB2200G.03.10 YmoTHUTEIbHAS 111aii0a 2
15 NB2200G.03.11.00 MacnoynoButenb 2

HunueapudecKuil pOIMKOBBIN MOAMIUITHUK

16 NB2200G.03.12 NU3152M/C4
17 304607 Macnssoe ynnotaenue: B2USL 280-320-20
18 GB/T93-1987 [Taii6a: 24 16
19 GB/T5783-2000 bont: M24x%60 16




4. NB2200G.04.00 Kpeitukond B coope

3

Had uenmponsHou
NUHUEU Kpeuukonda

A

32 33

31

30

g

2L

23

J
N
e
SLs

DL

35

34

10



[I/T1 Howmep ueprexa HaunmenoBanue Kom.
1 NB2200G.04.01 Kpeiikond 1
2 NB2200G.04.02 Bepxusis nanpapinsionas 1

[IpoBoiioka U3 HepkaBeroueit
3 GB/T4240-1993 ctanu :@1.60(L=420) 3
4 NB2200G.04.03 Bbont: M24x60 2

Macnsinoe ymnotHenue: BAUMSLX7

5 521014 150-180-15 2
6 NB2200G.04.04 Kombio MacisiHOro ynioTHeHus 1
7 NB2200G.04.05 Kopobka canpHuKa 1
8 GB/T3452.1-2005 0-o6pa3nHoe kombI1o: 218%5.3-G-S 1
9 NB2200G.04.06 YrnoTHuTENbHAS 11aii0a 1
10 | NB2200G.04.07 TopiieBas KphIka 1
11 | NB2200G.04.08 [IpomexyTo4yHas 3a)KUMHas TAra 1
12 NB2200G.04.09 I'psazesamnrHas rnacTuHa 1
13 GB/T3452.1-2005 0O-o6paznoe komnbio: 150x7-G-S 1
14 | GB/T3452.1-2005 0-o6paznoe kombio: 180x7-G-S 1
15 | GB/T5780-2000 bonT:M10x45 4
16 | GB/T93-1987 [aii6a: 10 4
17 | NB2200G.04.10 CronopHas npy>xuHa 1
18 | NB2200G.04.11 bont: M24x70 6

[IpoBosioka U3 HEpKaBeOUIEH
19 | GB/T4240-1993 cranu :@1.60(L=700) 1
20 NB2200G.04.12 HwxHss Hanpasistonas 1
21 NB2200G.04.13 Kpenexnas rmianka 8
22 | NB2200G.04.14 Macnootpaxarenb 1
23 NB2200G.04.15 YuoTHUuTENbHAS IPOKJIIAIKA 1
24 | GB/T93-1987 [MTaii6a: 16 2
25 | GB/T5781-2000 bont: M16%30 2
26 | NB2200G.04.16 CoenunaurenbHas raiika: NPT3/8%50.8 2

[ToamunHuK KpECTOBUHBL: NNAL

27 | NB2200G.04.17 6/230Q4/C4Y A2 1
28 | NB2200G.04.18 [Manern kpetinkornda 1
29 | NB2200G.04.19.00 TlakeT MpOKIIaI0K 8
30 | NB2200G.04.20 Bunt: M22x85 8
31 | 242 AHa’pOOHBIN YIUTOTHSFOIINH KIIeH 1
32 | NB2200G.04.21 Bunt: M24x70 8

GB/T4240-1993 [IpoBosioka n3 HepKaBeroUen
33 cranu :¢1.60(L=320) 4

11




34

NB2200G.04.22

3amuTHas 10CKa Maniblia Kpenikonda

35

NB2200G.04.23

Perynupytomiast mpokiaaka

12




5. NB2200G.05.00 I'mapaBinyeckas 4acThb B coope

7N BN

=2 S

N2

Sl 1D

N

Lo

N—=12—173

13



[I/T1 Howmep ueprexa HaunmenoBanue Ko
1 NB2200G.05.01.00 CanpHUK KJ1anaHa 6
2 NB2200G.05.02.00 BrimyckHoi nunuHIp B cOope 3
3 NB2200G.05.03 Kppimika kianana

VYIUIOTHUTEIBHOE KOJBLO BBITYCKHOMN
4 NB2200G.05.04 TpyOBI 3
5 NB2200G.05.05 BoinyckHol TpyOonpoBos 1
6 NB2200G.05.06 [aii6a: 39 36
7 NB2200G.05.07 N3HoCcoycTOMUNBEIM TUCK 3
8 NB2200G.05.08 ®draHel BTYJIKU TUAJIUH]IpA 3
9 NB2200G.05.09.00 [opienn 3
10 NB2200G.05.10.00 PacnsimurenpHas TpyOa B coope 1
11 NB2200G.05.11 Brynka (0ObryHast) 3
12 NB2200G.05.12 Brynka (OumeTanmudeckast) 3
13 NB2200G.05.13 TopueBas KpbllIKa BTYJIKY LIWJIXHIpA 3
14 NB2200G.05.18.00 XomyT B cOope 3
15 NB2200G.05.19 [TopurHeBoii MTOK 3
16 NB2200G.05.20 CronopHoe KOIbLO BTYJIKH HUINHAPA 3
17 GB/T3452.1-2005 0-o06pazHoe kobio: 236x7-G-S 3
18 NB2200G.05.21.00 CanbHUKOBAs KPBIIIKA BTYJIKU IIMIHHAPA 3
19 NB2200G.05.22 YIIOTHUTENBHOE KOJIBIO MOPLIHS 3
20 NB2200G.05.23.00 laiixa mopHs 3
YIIOTHUTENBbHOE KOJIBIO THIIb3bI
21 NB2200G.05.24 umuHapa: 190 3
YIIOTHUTENBbHOE KOJIBIO THIIb3bI
22 NB2200G.05.25 umuHapa: 220 3
YIUIOTHUTENBbHOE KOJBIO THIIb3bI
23 NB2200G.05.26 uunuHApa: ¢260 3
YIIOTHUTENBbHOE KOJBII0 U3HOCOCTOMKOTO
24 NB2200G.05.27 JIHCKa 3
25 NB2200G.05.28 VYIUIOTHUTENIBHOE KOJIBLIO HUIMHIPA 3
26 NB2200G.05.29.00 [Taket mpokagok 4
27 GB/T3452.1-2005 0O-o6pazHoe konbio: 243x7-G-S 3
28 GB/T5783-2000 Bont: M22%55 18
29 | GB/T5782-2000 Bonr: M27x90 36
30 | GB/T6170-2000 Taiika: M27 36
31 NB2200G.05.30 Pesp6oBas 3armymka: NPT1 1/2 1
32 NB2200G.05.31.00 Kiaman BeIcOKOTO aBiieHus B cOOpe
33 NB2200G.05.32.00 Kiaman Beicokoro naBnenus B coope: API

14




8

34 | NB2200G.05.33 [pyuHa KianaHa 6
35 | NB2200G.05.34.00 HanpasuTens mToka KianaHa 6
36 243 AHa3pOOHBIN YIUIOTHSIOMUHN KIIei 1
37 | NB2200G.05.35 Koseno 90°: NPT3/8" 6
38 | NB2200G.05.36 BybepHas nraiiba 6
NB2200G.05.37 YIIOTHUTENBHOE KOJBIO KPBIILKH
39 KJIanaHa 6
40 | NB2200G.05.38.00 [TpueMHBIi ATMHAD B CO0pE 3
41 | NB2200G.05.39 [puemnbiii uaner (11) 1
42 | GB/T3452.1-2005 0-o6pasHoe Komb1o: 345%7-G-S 2
43 NB2200G.05.40.00 [TpuemHBIH TPyOOTIPOBO 1
44 NB2200G.05.41 ITpuemusrii duaner () 1
45 | NB2200G.05.42.00 ITpreMHBIH BO3IYIIHBINA MENIOK 1
46 NB2200G.05.31(A).00 Knanan Beicokoro naBneHust B coope 6

15




6. NB2200G.05.02.00 BoinyckHO# HMJIMHAP B cOope

9
8
]
- o
] — |
I
- ]
. . — b
] | Y
e }
b O ———
O . _ -~
N | 1 El———
- -
R
I/11 Howmep ueprexa HaunmenoBanue Kou.
1 NB2200G.05.02.01 BoinyckHOW rHIpOLMIMHAD 1
2 NB2200G.05.02.02 [Mnunbpka: M39%2-6h-M39x3-6gx125 12
3 NB2200G.05.02.03 I'aiika : M39x3-6H(SPL) 12
4 NB2200G.05.02.04 HImmeka: M30%2-6h-M30x%3-6gx205 12
5 NB800G.24.06A [atixa: M30x3-6H(SPL) 12
6 NB2200G.05.02.05 HImunska: M48%2-6h-M48x3-6gx520 8
7 NB2200G.05.02.06 [aiika:M48x3-6H(SPL) 12
8 NB2200G.05.02.07 HInunpka: M48%2-6h-M48x3-6gx240 4
9 243 AHa’pOoOHBIN YIIITOTHAIOIMNN KIIeit 1

16




7. NB2200G.05.38.00 IIpuemHblii HuiuHAP B cOope

s
3
i <
A | I
\| | — J
7 T3
b
N
b
[/11 Howmep ueprexa HanmenoBanue Ko

NB2200G.05.38.01

[IpuemHbI LUIUHID

NB2200G.05.38.02

YIIOTHUTENBHOE KOJBIO IPUEMHOTO
UIHH]pA

NB2200G.05.38.03

HpI/I)KI/IMHaFI IIJTaHKa

NB2200G.05.38.04

[nunpka: M24x2-6h-M24-6gx75

NB2200G.05.38.05

laiika : M24-6H(SPL)

N[ B W

243

AHa3pOOHBIN YIUTOTHSIOIIUH K1l

—_ N DN | = | =

17




8. NB2200G:.06.00 Cma3ka tuHAMHYECKOH YacTH B cOope

7—=13-1

29—178

30

50 51

L8 49

BREEAE

| | [
Jq_flj\;

-

-
N
(I T S A

|
\

,
,

CHELS ) TR

| T ey

BB

R R G

)

S

—
ﬁ\ﬂHH

L)

HTE ] o 21 B

BT RT3

R

?

BRI

R

R R N

18



[I/T1 Howmep ueprexa HanmenoBanue Kom.
[IpsAmoii coenMHUTEND:
1 NB2200G.06.01 M24x1.5-6g-NPT3/4 1
2 NB800G.06.25 laitka: M24x1.5-6H 2
3 NB2200G.06.02.00 TpyOnast ckoba: @16 1
4 GB/T1527-1997 Mennas Tpy6a: ¢16x1510 1
IIpsiMo¥i COeTMHUTENB:
5 NB800G.06.24 M24x1.5-6g-NPT1/2 1
6 NB800G.06.22 Pe3pboBas 3armymka: NPT1/4 5
7 NB800G.06.06.00 TpyOHas ckoba 2
8 NB800G.06.30.00 JByxTpyOHas ckoba: (8 3
9 NB800G.06.26 I'uesmo coequnamrens (11) 1
10 NB800G.06.27 dyHIaMEHTHAs TJIUTa 4
11 NB2200G.06.03 Pe3p6oBas 3armymka: 1/2 1
12 GB/T1527-1997 Mennas tpy6a ¢10x665 1
90°TpyOHBIii COETUHUTEND
13 NB800G.06.19 M16x1.5-6g-NPT1/4 6
14 NB800G.06.17 [aiika: M16x1.5-6H 10
15 GB/T1527-1997 Mennas tpy6a: ¢10x430 1
IIpssMO¥i COeIMHUTEIIB:
16 NB800G.06.16 M16x1.5-6g-NPT1/4 4
17 GB/T1527-1997 Mennas tpy6a ¢10x184 1
18 GB/T1527-1997 Mennast Tpy6a ¢10x860 1
19 NB800G.06.20 I'uesmo coequumrens (1) 1
20 NB800G.06.21 Pe3nOoBas 3armymka: NPT3/8 1
21 GB/T1527-1997 Mennas tpy6a: ¢10x560 1
22 GB/T1527-1997 Mennas tpy6a: ¢10x700 1
23 GB/T1527-1997 Mennas tpy6a ¢10x%185 1
24 GB/T1527-1997 Mennas tpy6a: ¢10x1050 1
25 GB/T1527-1997 Mennas tpy6a ¢10x780 1
26 NB800G.06.18.00 TpyOnast ckoba: @10 8
27 GB/T1527-1997 Mennas tpy6a: ¢10x1160 1
90°TpyOHBIi COCTUHUTEIND:
28 NB800G.06.15 M18x1.5-6g-NPT3/8 4
29 | NB800G.06.09 Taiika: M18x1.5-6H 10
30 | GB/T1527-1997 Mensas Tpy6a: ¢12x210 2
31 | GB/T1527-1997 Mennas Tpy6a ¢8x1520 1
32 | GB/T1527-1997 Mennast TpyGa 8% 1940 1
33 | GB/T1527-1997 Mennast Tpy6a ¢8x3080 1

19




34 | GB/T1527-1997 Menuas Tpy6a: ¢8x2660 1
35 NB800G.06.07 Iaiika M12x1.25-6H 15
NB800G.06.05 90°TpyOHBII COEAMHUTEB!
36 M12x1.25-6g-NPT1/4 9
37 | GB/T1527-1997 Mennast Tpy6a: ¢12x2660 1
NB800G.06.08 90°TpyOHBII COeAMHUTEB!
38 M18x1.5-6g-NPT1/4 2
39 | NB300G.06.10 [psimoii coemuuuTens: M12x1.25-6g 2
40 | NB800G.06.13 IIpsamoii coemunuTens: M18x1.5-6g 1
41 | GB/T1527-1997 Mennas Tpy6a: ¢8x350 2
42 | NB800G.06.11.00 Tpy6Has ckoba: @12 6
43 GB/T1527-1997 Mennas Tpy6a: ¢12x960 1
44 NB2200G.06.04 TpoiiHuK 2
45 GH3161-06.19 MacsHbII HUIIIIEIb 2
46 GB/T93-1987 [1laiiGa: 6 4
47 GB/T5781-2000 Boar: M6x20 4
48 GB/T1527-1997 Mennas Tpy6a ¢12x1060 2
49 NB800G.06.12.00 Tpy6nas ckoba: ¢8 4
50 | GB/T1527-1997 Mennas Tpy6a ¢8x360 2
NB2200G.06.05 90°TpyOHBIi COCTUHUTEIND:
51 M12x1.25-6g-NPT1/4 2

20




9. NB2200G:.06.00 Cma3ka tuHAMHYECKOH YacTH B cOope

17 —13 —1 14 —15 —16

ueHmp Hacoca

.

wa
1

L\%i%ﬁﬁ;m‘ﬂ?

HDUHL_LUWUQ/TbHCLﬂ cxemMd cMa 3Ky

<2
=
T =]
T o =7 &
[S N a =
E = = o
;’v = o X
[ =
a =2 3
g = s '@
S T T o
a = x
=35
x
lg &
I =
2He310
coeduHeHUUC 1)
> Y
= & = &
= 8] = [¥)
T T
S =
o - ol
2 E HO Bepxyr 4acms kpeuukonda 2 E
S < (mpu Mecmo) ° <
= 3 P = o
<O Ne)

nodwunHUK
onenyamozo Bana

nodwunHuK
onexyamozo band

2He3do
coeduHeHuU C 11

.
s
s
s

21



[I/T1 Howmep ueprexa HaunmenoBanue Kom.
1 NB2200G.06.01 [Ipsimoit coenunuTens: M24x1.5-6g-NPT3/4 1
2 NB800G.06.25 laiixa: M24x1.5-6H 2
3 NB2200G.06.02.00 TpyOnast ckoba: @16 1
4 GB/T1527-1997 Mennas Tpy6a: 16x1510 1
5 NB800G.06.24 [psimoit coenmumnTens: M24x1.5-6g-NPT1/2 1
6 NB800G.06.22 Pe3nboBas 3armymka: NPT1/4 5
7 NB800G.06.06.00 TpyOHnas ckoba 2
8 NB800G.06.30.00 JByxTpyOHas ckoba: (8 3
9 NB800G.06.26 I'uesmo coequnaurens (1) 1
10 NB800G.06.27 DyHIaMEHTHAs IJIUTA 4
11 NB2200G.06.03 Pe3bboBas 3armymka: 1/2 1
12 GB/T1527-1997 Mennas tpy6a ¢10x665 1

90°TpyOHBIii COEeTUHUTEND
13 NB800G.06.19 M16x1.5-6g-NPT1/4 6
14 NB800G.06.17 laiika: M16x1.5-6H 10
15 GB/T1527-1997 Mennas tpy6a: ¢10x430 1

[IpsiMoit cOeNMHUTEIIB:
16 NB800G.06.16 M16x1.5-6g-NPT1/4 4
17 GB/T1527-1997 Mennas Tpy6a ¢10x184 1
18 GB/T1527-1997 Mennas tpy6a ¢10%x860 1
19 NB800G.06.20 I'uesmo coemunntens (1) 1
20 NB800G.06.21 Pesn6oBas 3armymika: NPT3/8 1
21 GB/T1527-1997 Mennas Tpy6a: ¢10x560 1
22 GB/T1527-1997 Mennas Tpy6a: ¢10x700 1
23 GB/T1527-1997 Mennas Tpy6a ¢10x185 1
24 GB/T1527-1997 Mennas tpy6a: 10x1050 1
25 GB/T1527-1997 Mennas tpy6a ¢10x780 1
26 NB800G.06.18.00 TpyOnast ckoba: @10 8
27 GB/T1527-1997 Mennas tpy6a: 10x1160 1

90°TpyOHBI COETUHUTED:
28 NB800G.06.15 M18x1.5-6g-NPT3/8 4
29 | NB800G.06.09 Taiika: M18x1.5-6H 10
30 GB/T1527-1997 Mennas Tpy6a: 12x210 2
31 GB/T1527-1997 Mennas Tpy6a ¢8%1520 1
32 | GB/T1527-1997 Mennas Tpy6a 8% 1940 1
33 | GB/T1527-1997 Mennas Tpy6a ¢8x3080 1
34 | GB/T1527-1997 Mennast Tpy6a: ¢8%2660 1

22




35 | NB800G.06.07 Taiika M12x1.25-6H 15
NB800G.06.05 90°TpyOHBII COETUHUTEINb:
36 M12x1.25-6g-NPT1/4 9
37 | GB/T1527-1997 Mennas Tpy6a: ¢12x2660 1
NB800G.06.08 90°TpyOHBI COETUHUTEIb:
38 M18x1.5-6g-NPT1/4 2
39 | NB300G.06.10 [psimoii coenunutens: M12x1.25-6g 2
40 | NB800G.06.13 I[Ipsimoii coenunuTens: M18x1.5-6g 1
41 | GB/T1527-1997 Mennas Tpy6a: ¢8x350 2
42 | NB800G.06.11.00 Tpy6Has ckoba: @12 6
43 GB/T1527-1997 Mennas tpy6a: ¢12x960 1
44 | NB2200G.06.04 Tpoiinuk 2
45 GH3161-06.19 MaciaHbI HUNIIIEIb 2
46 | GB/T93-1987 Ilaii6a: 6 4
47 GB/T5781-2000 Boar: M6x20 4
48 | GB/T1527-1997 Mennas Tpy6a @12x1060 2
49 | NB800G.06.12.00 TpyOHas ckoba: ¢8 4
50 GB/T1527-1997 Mennas tpy6a ¢8%360 2
NB2200G.06.05 90°TpyOHBII COETUHUTED:
51 M12x1.25-6g-NPT1/4 2

23




10. NB2200G.08.00 PacnbuiuTeabHas cucreMa B coope

e ]
. Ninm

- - Rt W

4 AN

24




[/11 Howmep ueprexa HanmenoBanue Ko
1| IRG40-100 (8 i asmocommamoe yemmem) |1
2 GB9065.1-88 HInanr tuna C: 22 1 -2700 d:M36x2 1
3 NB2200G.05.10.05 Coemqunurens: NPT1-M36x2 1

IITapuKOBBIi KJIallaH C BHYTPEHHEH Pe3b00ii:
4 |QIIF-16 NPT YIPEHHEHP |
5 NB2200G.08.01 [Tpsimoii coenunntens: NPT1 1
6 | NB2200G.08.02 dranen 2
7 NB2200G.08.03 [Tpoknaaka 2
8 GB/T5780-2000 Bont: M16%x60 8
9 GB/T41-2000 laiika:M16 8
10 | GB/T93-1987 [aii6a: 16 8
11 | GB/T5780-2000 Bbont: M12%38 4
12 | GB/T93-1987 [aii6a: 12 4
13 | GB/T41-2000 Iaiika: M12 4
14 | NB2200G.08.04.00 MoHTaxxHas onopa 1
15 | NB800G.08.04 Coenunurenb: NPT1-M45%x2-6g 1
16 | GB9065.1-88 Inanr tuna C: 31.5 [ -900 d:M45x2 1
17 | NB2200G.08.05.00 BoxgsHoit 6ak 1
18 | NB2200G.08.06.00 Kpeimka BozstHOro 6aka 1
19 | JWYSC3 Ckoba s TpyOHOI TpyOBI 1
20 | NB800G.08.07 Coenunutens: NPT2 1/2-M45x2-6g 1

25




11. NB2200G:24.00 KB-45H Bo3ayumHblili MemIoOK

]
j [’:F/
B
e

| |

3

v B S | 2

TN w
szf\%;%%# & 1716-10000ps1 ¢ @nareuor

R?

-

26



[I/T1 Howmep ueprexa HanmenoBanue Kom.
YoTHUTENbHAS TPOKIAA0YHOE KOMbIIO:
1 SY/T5127-2002 BX155 1
2 NB800G.27.02 Hwuxnss mpobka 1
3 NB2200G.24.01.00 l"a30BbIil Memok 1
4 NB2200G.24.02.00 Bremrnuit kopmyc B cOope 1
5 NB2200G.24.03 Kppika 1
3anopHbIi pssMoyTioBoi kiamad: NPT 1/2
70MPa 1
NB2200G.24.04.00 Koxyx manomeTpa B cOope 1
NB2200G.24.05 Coenunurens: NPT 1/2-NPT 1/4
BubpoycTtoiuuBbIii MAHOMETP C TBOHHOM
9 Y-60 mikanoi: 0-25MPa (0-3630psi) 1
10 | NB800G.27.08 [aii6a 1
11 NB800G.27.09 Tpoiinuk: NPT 1/4 1
12 NB800G.27.10.00 BrixmonHo# kinanax 1
["a3onamnonHeHHbI pykaB B coope
13 NB800G.27.11.00 KOMIIEHCAaTOpa 1

27




12. NB2200G.24.04.00 Ko:xxyx maHoMmeTpa B cOope

¥ bud i

[/11 Howmep ueprexa HanmenoBanue Ko
1 NB2200G.24.04.01 Koxyx manomeTpa 1
2 NB2200G.24.04.02 Tabnuuka 1
3 GB/T67-2000 Bunt: M4x10 4
4 GB/T5783-2000 bont: M16x40 4
5 GB/T93-1987 [laii6a: 16 4

28




13. NB2200G:.25.00 BoinmyckHO# NSITEPHUK B cOope

—t—
-/

29




[I/T1 Howmep ueprexa HanmenoBanue Kom.
1 NB2200G.25.01 I'me3no manomerpa 1
2 NB2200G.25.02 [Mnuneka: M20-6h-M20-6gx62 8
3 GB/T6175-2000 laiika: M20

YrnoTHUTENbHAS TPOKIIAI0YHOE KOJIBIIO:
4 SY/T5127-2002 BX152 1

YnoTHUTENbHAS TPOKIIAI0YHOE KOJIBIIO:
5 SY/T5127-2002 BX169 3
6 NB2200G.25.03 [Imuneka: M30x2-M30x3x115 36
7 NB2200G.23 laitka: M30x3 36
8 GB/T5782-2000 Bbont: M24%60 4
9 GB/T93-1987 [Tait6a: 24 4
10 NB2200G.25.04.00 OrnopHas pama 1
11 NB2200G.25.05.00 @unpTpallMOHHAS CETKa 1
12 NB2200G.25.06 @dnaHueBas 3ariaynKa 1
13 NB2200G.25.07 dmaner;: 5 1/8x69 1
14 NB2200G.25.08.00 [Iarepuuk 1

30




14. NB2200G.27.00JA-3H IIpenoxpaHuTeJbHbIN KJIANaH €O cpe3HbIM TudTOM JA-3H

RRRTLL
RIS
RRIILS
(KKK

RSV tetat:!

dedee!

31

A

l\fl\mo\,m )

~ o £‘§ SR i:

/) | 2%

[ ‘ N

‘ \ T T T T T [
\ \ FICEEErer e tef il ||
\ H\HHH}HH\HH —L

e

yy%ﬂg
= j:;mﬁ;
—
=

-

NC

155 ==
R =
e
— 610 ===~

E@BT;

FAAR R

B R & T E S

WA A AR o
Sichuan Honghua Pefroleum Equipment Co., Ltd
(ALl The People’ s Republic of China
HONGHUA T gE BN R P UAEF=E
Address: South Sechion 2‘ Zhongshan Road, Guanghan, Sichuan, China

JA-BH o % % 2 |/ ihear Relief Valve
W65 Component No: NB2200G 2700 W %5 Product No: [ ]

BUERT Connection Thread : NPT3 )7 B# Delvery date: [ |
BALHEA Max Working pressure SpMPa ( 7500psiy
A& (autions: |
1) SR | EAE iR A AR T % P € ANTH B NB2200G.27.08)
Use the special shear pin made|by Hong Hua Co, Itd
(Drawing Code: NB2200G.27.08 ;
WAKTHITRA, BAR@ME. Habe to be fested i using other

pin for instead
2) BMELEGLEAANAA. Inser| the shear pin according fo the
rafed pressure of corresponding liner size

\\“)&Qﬂ

27

|
<




/11 Howmep ueprexa HaumenoBanue Kox.
1 NB2200G.27.01 Onanern;: 2 1/16x69 1
2 GB/T91-2000 tudt: 4%25 1
3 NB800G.28.02 CronopHoe KOJIbI0 1
4 NB800G.28.03.00 [Topmens B cOope 1
5 NB2200G.27.02 Kopnyc knanana 1
6 NB2200G.27.03 [TopuiHeBo MITOK 1
7 NB2200G.27.04 Bbydepnas maiidoa 1
8 GB/T879.1-2000 Mtudt: 560 1
9 NB2200G.27.05 KonTpoBouHas npyxuHa 1
10 GB/T67-2000 Bunt: M4x16 2
11 GB/T6170-2000 laiika: M4 2
12 NB2200G.27.06 IIpenoxpaHUTEIbHBINA KOXKYX 1
13 NB2200G.27.07 IImanka nanbpia 1
14 NB2200G.27.08 AHTHCpE3aIoMUN ITUDT 2
15 GB5780-2000 bont: M10x110 1
16 GB/T41-2000 laiika: M10 1
17 NB2200G.27.09 MapxkupoBounast oupka | 1
18 NB2200G.27.10 MapkupoBounast 6upka Il 1
19 GB/T895.2-1986 CronopHoe KobI10: 16 2
20 NB2200G.27.11 [Tanen 1
21 GB/T67-2000 Bunt: M3x8 8
22 NB2200G.27.12 Tabnuuka 1
23 NB2200G.27.13 [Hnunska : M20-6gx150 8
24 GB/T6175-2000 [aiika: M20 16

32




